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1. The naturalist argument on the origin language leaned on .........

a. onomatopoeia b . phonotactics
c. philology d. metaphor
2. Dionysius Thrax defines ................. as the practical knowledge of the general usages of poets

and prose writes.
a. poem b. melody C. grammar d. literature
3. The sum of all environments of a linguistic item is called its..............
a. paradigm b. inflection c. derivation d. distribution
4. Studying the state of the language at any single stage in its development is called .................
linguistics.
a. synchronic b. panchronic c. analogical d. diachronic
5. Inducing non-linguistic evaluations into linguistic discussions is called .................
a. substitutibility b.co-occurrence
c. anomaly d. prescription
6. The Subfield of linguistics that studies the internal structure of sentences and the relationships
among the internal parts is called.............
a. syntax b. phonology c. morphology d. phonetics
7. The morpheme to which an affix is attached is called ...................
a. root b. internal root c. clitics d. base
8. Which word belongs to open class words?
a. red b. this c. and d. most
9. Fries, following Bloomfield, considers language as ................
a. performance b. langue c. langage d. verbal behavior
10. In Halliday’s functional grammar, psychological subject is called...........

a. stimulus b. theme C. response d. doer
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11. Which one is a voiceless bilabial stop?
a.p b.m c. k d.h
12. In English compound nouns, stress is on the ............
a. first part b. second part c. both of them d. third part
13. Which one is the intonation pattern of declarative statements?
a. falling-rising b. rising C. rising-rising d. rising-falling

14. Which one is the intonation pattern of yes/no questions?

a. falling-rising b. rising c. falling d. rising-falling
15, ------m--- function of intonation permits speaker to distinguish certain syntactic relations.
a. focusing b. grammatical c. attitudal d. discourse
16. ---------- is an explicit description of the ideal speaker-hearer’s intrinsic competence.
a. functional grammar b. systemic grammar
C. generative grammar d. traditional grammar
17. The rule XP — XYZ is called ------------- rule.
a. nuclear b. paraphrase c. phrase structure d. transformational

18. Which one is correct?
a.NP— (D) (A) N (pp) b.NP—>D (A) N (PP)
c.NP—D (A) N PP d. NP— D (A) (N) (PP)
19. In the sentence “Bob destroyed the statue yesterday” which one is agent?
a. yesterday b. statue c. Bob d. destroy
20. What is the role of John in the sentence “Mary gave the book to John”.
a. agent b. patient C. experiencer d. goal
21. What is the case of him in the sentence “I saw him.”?
a. nominative b. genetive C. accusative d. oblique

22. The sentence “the man killed the king with the knife” has-------- .
a. dependency b. ambiguity C. source d. opposition
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23. One-replacement is a process that targets the ------- node.
a.N b. N’ c. N” d. VvV
24. In the phrase “a book with red cover”, “with red cover” is ------------- .
a. verb phrase b. adjective phrase
c. adjunct d. complementizer
25. In the sentence “there is a book on the table” which insertion rule is used?
a. morphological b. functional
c. transformational d. assignment
26. The deletion of you in the sentence “Go away!” is called ------------ :

a. theta theory b. recipient c. ellipsis d. lexicon

27. The word “himself” is a kind of ---------—---- )

a. parameter b. anaphor C. pronoun d. R-expression
28. Passive is a kind of -------------- movement.

a.A b. A’ c.A” d. wh
29. Misproduction and misinteroretations are ------------- errors.

a. competence b. grammar c. binding d. performance

30. The idea that grammars should be as simple as possible is referred to as --------------- .

a. generativist b. minimality c. maximality d. dependency
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